MAR <-PC
PC<-PC+1

RTI BEN<-IR[11] & N + IR[10] & Z + IR[9] & P
To 8 [IR[15:12]]
(See figure C.7) TRAP
To 15
(See figure C.7)  APD

1
DR<_SR1+0P2% EA/LIY LDR LDI ST
set CC

To 18

PC<-BaseR

[IR[11]] To 18

10 u
MAR<—PC+0ff9) (MAR<-PC+off9
Tol
R7<-PC
PC<-PC+off1
R 24 Y ) 29 R
C@IDR<—M[MARD @DR<—M[MARDD 20
R7<-PC
R R PC<-BaseR
MAR<-B+off6
Y 31 3

To 18

To 18‘/ MAR<—PC+0ff9

23

NOTES

B+0ff6 : Base + SEXT[offset6]
PC+off9 : PC + SEXTJ[offset9]
PC+offl1 : PC + SEXT/[offsetl1]

25 v

M[MAR]<-MDR

27 R R
To 18

DR<-MDR
set CC

*OP2 may be SR2 or SEXT[imm5]

To 18



